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WS B (ug/g)=(C FrUEXV)X(A M5E-A 2 H)+(A FrfE-A 2 H)+(V2+VxW)xD
=2x(A M5E-A 75 FH)+(A FifE-A 25 H) +WxD
ME2 B (nmol/g)=(C ARHEXV1)x(A ME-A 75 H)(A brifE-A 7 H)+(V2+VxW) x10>+MrxD
=35.81x(A MIE-A 7 F)+(A frffE-A ) ~WxD
2. YRBCE T
8K 5 (ug/107 cell)=(C AREXV1)x(A J5E-A 25 F)+(A brifE-A 25 F)+(V2+ Vx4l g =) xD
=2x(A ME-A 7 H)~(A brfE-A = H) A3
ML B (nmol/10* cell)=(C AR#EXV1)x(A MIE-A 75 H)(A brifE-A 7S F)+(V2+- Vx4 £ &)
x103+MrxD
=35.81x(A ME-A 2= F)+A frifE-A 2 H) 4l EE <D
3. BB B
TR B (ug/mL)=(C ARiEXV1)x(A M E-A 25 H)+(A brffE-A 25 1)+V2xD
=2x(A ME-A 7 H)+(A FrifE-A 2 H)xD
ME 2K & (umol/L)=(C FRAEXV1)x(A U E-A 75 H)A FrifE-A 7 H)+V2x103+MrxD
=35.81x(A MI5E-A 7 F)+(A br#E-A 75 H)*xD
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